4
|
r o A

ASSEMBLY INSTRUCTIONS
PJO-3001-BRN-DB (WOVEN DAYBED WITH
CUSHIONS)

A. Side frame (2 units)

B. Back frame (1 unit)

C. Seat frame (1 unit)

D. Poles (4 units)

E. Cushions (5 units)

F. Fabric (1 unit)

G. Upper frame (4 units)

H. Long screws @8*40 mm (4 units)
|. Short screws @8*20 mm (8 units)
J. Screws ¢6*38 mm (10 units)

K. Washers M6 (10 units)

L. Washers M8 (12 units)

LL. Plastic covers (12 units)

M. Allen wrench M5 (1 unit)

1. Position back frame (B) to one of the sides (A) before manually tightening with screws (J).
Important note: Do not tighten all the way.

2. Repeat same process on the other side.
Important note: Do not tighten all the way.




ASSEMBLY INSTRUCTIONS
PJO-3001-BRN-DB (WOVEN DAYBED WITH
CUSHIONS)

3. Position seat frame (C) with the rest of the
assembly parts.

Insert screws (J) to its corresponding hole and
manually tighten.

Important note: Do not tighten all the way.

e

A e

4. Position one of the poles (D) to the structure.
Insert screw (I) to its corresponding hole and
manually tighten.

Important note: Do not tighten all the way.

5. Repeat same process on the other poles (D).

6. Position upper structure frame (G) with the
poles (D). Insert screw (H) to its corresponding
hole and manually tighten.

Important note: Do not tighten all the way.

7. Tighten all screws using the allen wrench provi-
ded (M). Then cover the screws with brown plastic
covers (LL).

8. Position fabric (F) on upper frame and leave the
cushions (E).




